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TN HERE = 1 30, 221, 851
BT = 1 25, 541, 147
PERARRE T = 1 25,541,147 |REL 60, 000 m2

OF#=0)
By h-IE255mm  FREEPS IEMEL ;

brE 555, 000 m2
(e R R AE=0)
K 185¢m ;

brE 390, 000 m2
VAR 2
KiE150cm ;

R 60, 000 m2
ON2))

FE 555, 000 m2
(e R e =)
S RIFE180cm ;

R 390, 000 m2
VAR 2
S FIFE200cm ;

kD) 622, 000 m2

FEOA - fRFiED 30, 900 m2
VU7 Nyt HRELEEL

FEOA - fRFiED 622, 000 m2
27T Myt MEEY

TR (PEBARRED 15, 500 m2
M@MEL DIDEEL L=1.0kmPA T ;

TR (PEBARRED 15, 400 m2
M@ L DIDEEL L=2.5kmPA T ;

TR (PEBARRED 216, 000 m2
W@EAY DIDEL L=1.0kmPA T ;

TR (PEBARRED 245, 000 m2
@AY DIDEEL  L=2.5kmPA T ;
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TR (PEBARRED 121, 000 m2
MW@ADY DIDEEL L=4. 0kmPA T ;
TR (PEBARRED 40, 200 m2
W@EAY DIDEL  L=6.0kmPA T ;
BEH 282, 000 m2
LT = 1 15, 532
Rkt A =X 1 2,222 |[VEmFEER (1) 5 m2
T i S O I BRI
fiA T 2 1 13,310 [3EZ 5 m2
B2 T 100m2ATH ;
FRIE D T = 1 97, 100
FRE D7 nys T =X 1 97,100 |&FEEA 5 %
2t A (BEIEGRERY) HIEA 150-200mm ;
HEE L = 1 60, 860
REVEITUE L T = 1 40, 405 |2/ -MEEEUE L 5 m3
HAEEY BblE T
TR AL T = 1 20, 455 | ERE 5 m3
/)Y - hik (AT
By 5 m3
/) - bk BEA%)
LEFEAET 2 1 54, 562
RARBRAR T = 1 54,562 | A AT 10 m2
AR (Bhihe L)
PR 10 m2
SEFEAEA S 10 m2
PRARLEAT 7 m3
WLy 5 m3
(8- %)
WLy 2 m3
(FRER)
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e L = 4, 230, 700
FESFALER T = 4,230,700 | HEFEEEITINAE (Wt AL EE) 100 m3
HEREBE SR ULE (N DAL BE) 100 m3
VU%ax ¢ 200 m3
BA L)
Ak T Y 19, 506
ELEYE(E T Y 1,276 | REEHEIE 10 m2
ML
TA7 7 M2 T = 18,230 |FKJE (HiE - B 10 m2
FRAE BRI EET A2/ (20) A2EE 50mm 3. OmiZ ;
SN AL T =Y 50, 544
S BLERESE T Y 50, 544 |IANEZE 1 =
A Y 151, 900
A ERE E T = 151,900 | 235 EE i 5 1 =
[ERAE Xy = 30, 221, 851
HiE = 2,528, 000
B (FEHL) = 2,528, 000
T = 32, 749, 851
Bl gy = 12, 266, 000
T =5l = 45,015, 851
— R A = 8,204, 149
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